~ Organic Chemistry-Ill .

T.3 H. Second Paper r. M. M. 50

A PART-A 1. CHB—CH_—CH3
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Cl |

Give the number ofequivalent protons in molecule.

t
2. NMR @1 3 58 S5 3 et 31 s o 21

What types of radiatioqs are used in NMR spectoscopy. |
3. FrAfetea sifvyferar gof shif | Complete the following reaction :

+CO,—
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Explain why Pyridine is mofe basic than Pyrol,

5. g %“T T’ﬁ 1Bl & ? What is Mutarotation ?

6. TIGHIST 1 TeiT 6 et & | TR |

Explain why suctose in Inverted Sy ar.

7.amawmmw%?afimﬁ‘§ﬁ%?

What are essential amino-acids ? How may i ' - -

8, 01 o S o 3 T T s 1?y Amino acids are there.

What isprimary structure of Protein.

9. JMATEH A F1 2 ¥ Whatis lodine valye.

[0 5gleTes a1l & e Rl | Wite the constituents of N
A9 PART-BE&E 1. 1. (i) Tagies gid

ucleic Acid.
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2 ? What is chemi i
: 1cal shift ? How it is measured ? agar /OR
- Frfifed & B NMR R T &7

How many NMR signals would you expect from following :

3

| |
CH, “ C*ICHKI?JIT C,H.-OH

CiL: ' o '
T 1. 2. R, 30 & s Sl e arferean @ oty 4 Feareficr & |

GHENET | Pyridine is less reactive than Benzene towards electrophilic

‘substitution reaction. Explain
1re . . agar /OR
S)Emwmasmmﬁa%ﬁ?%ﬁma?ﬁ%?‘ e
ow is quinoline obtained by skraup's synthesis ? |
- 51 IIL ©hIT &1 Baed ETe Qv upfgﬁamﬁrsm%awmmﬁ,

reducing or

a1 /OR

THEEY | Give Howarth structure of Sucrose. Whether Sucrose is
non-reducing sugar. Explain. & 9
fopfeTaT HeiaeT @ TensY | Explain Killiani Synthesis.

@ V. 4. §Ad FIEET | ARG E T SR 8 IX SEH
THIEHE %fﬁ 74 gt 6.1 8 1 I ° Explain Isoelectric point. Glysine is a
neutral amino acid but it's isoelectric pointis 6.1 not7. Why ? afEgar /OR -

erde & Heamor g¥ feweft ferEy | | o

Write a shortnoteons nthesis of Nucleotide.

V. 5. gt feweft | Write shortnoteson: _
(a) H@W"T 91 Saponification Value | |
(b) 3T A Acid Value : | - &7gar /OR

TagE TEAHTT 1 AT RS |

Growth polymerisation.

Explain the mechanism of Ste _
- PART-C. 1. Rr=fieire et NMR &g i 2 ST |

Discuss the NMRspectrum of following compounds :

(a) CH,COCH; (b) CH,COOCH; (¢) CH,CH,CHO

(d) CH,=CH-CH,-OH (e) CeHs

5 fE5qIT ZUET HLTT 1 fEpafafer sy |

Explain the reaction mechanism of Fisher-Indol Synthesis.

3. gHEY | Explain:
st T oI ol € |

(a) ISt a1 .
Glucose and Fructose give same osazone.

(b)@ﬁﬁwrgaé’mwemtr%a% :
Glucose and Fructose give same oxime.
(c) gt NaHSOd NH,& 52T 78 FRar & |
Glucose does notreact with NaHSO,and NH,.
4.%&%&%,@%@@%%%%@@
ary and quaternary structure of protein.

Explain the secondary, terti 1 .
it #f | Give reaction mechanism of following :

Phenol-formaldehyde Resin.

(a) AT Gal ,
; Urea-formaldehyde Resin.
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